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(1) 

 cos 2𝜃 = 2 cos2 𝜃 − 1 ⋯ ⋯ (答) 

 cos 3𝜃 = cos 2𝜃 cos 𝜃 − sin 2𝜃 sin 𝜃 = (2 cos2 𝜃 − 1) cos 𝜃 − 2(1 − cos2 𝜃) cos 𝜃 = 4 cos3 𝜃 − 3 cos 𝜃 ⋯ ⋯ (答) 

 

(2) 

半径 1 の円に内接する正五角形の一辺の長さを𝑎とすると、余弦定理より 

 𝑎2 = 12 + 12 − 2 ∙ 1 ∙ 1 ∙ cos
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2
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𝜋とすると 5𝜃 = 2𝜋 3𝜃 = 2𝜋 − 2𝜃 cos 3𝜃 = cos(2𝜋 − 2𝜃) = cos 2𝜃 

(1)より 4 cos3 𝜃 − 3 cos 𝜃 = 2 cos2 𝜃 − 1 4 cos3 𝜃 − 2 cos2 𝜃 − 3 cos 𝜃 + 1 = 0 

 (cos 𝜃 − 1)(4 cos2 𝜃 + 2 cos 𝜃 − 1) = 0 cos 𝜃 ≠ 1 より 4 cos2 𝜃 + 2 cos 𝜃 − 1 = 0 

0 < cos 𝜃 < 1 より cos 𝜃 =
−1 + √5
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 𝑎2 = 2 −
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2
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2.22 = 4.84, 2.32 = 5.29 より 2.2 < √5 < 2.3 であるから 𝑎2 >
5 − 2.3

2
= 1.35 

1.152 = 1.3225 より 𝑎2 > 1.35 > 1.152 ∴ 𝑎 > 1.15 ⋯ ⋯ (答) 


